W=1200L1F W=1200L T W=12004F 100~270
20
FyFL—IL(AL) .
10T
DP11540 2
115 by FL—ILRIFAL). T - =3
195 45 NOTUS9712 | —8
2| PBFALyELSER(SUS) 81 %
A M4 x 20 | % %
. *
X 'y J— I R—ERFHHAL | AR
— N ¥
-l 8 g 2 @ SL2023 | . S ﬁ *
a| o | 75y L—/3—(AL) [ B
ogo: | FL2090B l —=
i V] JL—1S—Z (AL == Ol
St == i FL2090A e e 1 B —————— e — s GO T4 I
8l g ‘ SR aL(SUS) e i‘f
ad| e : M4 x 8 (P<350) MEEX é
| XHE(AL)
4! / S5545
5 55 AR
55 ¢ 4.0y RyhAL)
% fl No.52
*
g % Q’/\
* = |
AR |
¥ T =
1] FILSYALT U H—(AL)
K ‘ TS400A-(80.100.120)
of ol 1 FR&yE AL (P-SUS) B LR/ \— (31fE) M67Ry T3y h(AL)
% Z — ! M4 X 25 PS55MKN-C FNARILRSUS)/M6 x 20
ol g = L FREyERL (P-SUS) TIVIYAU T HA—(AL) TIVISYAU T H—(AL) BRI ST vk (AL
8l g 1 M4 x 25 TS400A-(80.100.120) TS400A-(80.100.120) K72EWHA
1 o 4] FSRINR T (SUS) XHE(AL) ko TL—ILAL) XHE(AL) IVRFry T i)
OL =) ‘ M4 x 8 (P<350) S5545 DP11540 S5545 DP11540ECP2-L/R
Sl S| g | HE3E 7 > H—(SUS)
ol 2l Kl &Y - SGA-M8.~M8 x 35
K . s A w7 7 & T T T T T T T e e
- | ALK S— (AE) e Y 3 T ;
5 | PS55MKN-C g“’ﬁf.’ S S Y S
N ‘ = I i —o 5 o -
o — = o3 s T T TR T R T T 23123 K’*"* T T T
*
wsL| * o
E S B I— A=A \¢>4.0U&“yl~(AL) FSRINRT (SUS) 75 ykL—/3—(AL) W—IR—IURFry T (i)
S SL2023 No.52 M4 x 8 (P=350) FL2090AB FL2090BECP
S BERTN— —N—a/ B it b 4.0 R YRAL) Jo—/S—ER{FHH(AL)
M122 4 DRILE(SUS) 5 omm No.52 SL2023
JL—iR— L3tk 2 JL—iR— L5tk JL—iN— L3Fi& 20
HERAM=180LL L
W=1200LLF W=1200LLF W=1200L1F 100~270
EEEE RIAM180K B X80mMmT U A—IEERAT, KR XHREVFIIKEREREICKYELGYET, XEXFITSryNMEA T 3o TY,
STE i THEHFHER
JAN — 2 &£ A 8 I%% — PN R % # 5 fERLE S
VAN | &t 8 — - AX A
N 1" B i | | wﬁi‘n*iﬂ'/l/ Wies 5s rajoes
ﬁ = 2 % 8 = 2 F 7L EE FEEME # R (A3)=1/8,1/25
A _— B i | | I59h IS4 FL— )L/ SL-FB-DP11540-T

#5E B :2006.12.07

HEH: 2010.6.22

DOPPOPOPDOOD

#-033



